For this document we reserve ourselves all rights according to DIN 34.

20080521

Gesamflange L

Einnietmutter M5 (5x), kl. Senkkopf
rivet nut with small
countersunk head

Konsole K35

Schraubenbolzen / stud bolt ~ console K35

total length L

\/ 9-44955-00-0-1

9-46726-00-0-8 9-46857-00-9-0

/

Zyl.-schraube

306 cylinder head screw
DIN EN ISO 4762-M5x30 (1x) X
9-13692-30-R-8
1
5t - | I Fliigelbock K35
- r i Sash bracket K35
L e —
1 9-46858-00-0-1
& & e
-
T | T
1
Unterlegplatte Flligelbock
| packer sash bearing
1x 9-46859-00-0-* x = 9 mm
c 2x 9-46859-00-0-* x = 7,5 - 8,9 mm
©
c
ol© Zyl.-schraub
ol yl.-schraube
ol © cylinder head screw
X o DIN EN ISO 4762-M5x8 (2x)
oo Zyl.-schraube 9-13692-08-R-8
£|8 cylinder head screw
S|E DIN EN ISO 4762-M5x16 (4x)
9-13471-16-R-8
Montagemal3 L3 /\/ 30
p - - - wn
20 ® mounting dimension L3 20 20 b
Fan Y
U

15

Ausfrdsung F
4% cutout F
#5.5
Achtung: Bei Kippfenster Sicherheitschere einbauen! ' nicht bemaBte Radien = R2.5
Attention: Insert security stay with tilt window! _ —0- radii not dimensioned = R2.5
N
22

Diese Montageanleitung wendet sich an ausgebildetes Fachpersonal, Grundlegende Arbeitsschritte |
werden nicht naher erldutert
This assembly instructions apply to trained personnel, basic working steps are not explained
Achtung: Alle MaBe sind gem. VOB am Bau zu priifen und ggf. anzupassen!
Attention: All dimensions are to be checked at the building and if necessary adapted! c

©
Achtung: Alle Schrauben sind mit Schraubensicherungsmittel gegen Losdrehen zu sichern! > f_J
Attention: All screws must be secured against loosening using thread lock fluid! & g

S
Die Montage- und Betriebsanleitung ist Bestandteil dieser Einbauzeichnung und ist daher zu beachten é’ .TEJ
The assembly and operating instruction are a component of this installation drawing and are from there
to be considered
Bezeichnung / Artikel-Nr. / Hub/ [MontagemaB |Gesamtldnge | Ausfrasung /| Fliigelhdhe / | max. Description
description material number stroke [/ mounting |/ total length | cutout F sash height |Schub-/Zugkraft . . .

(mm) |dim. L3 (mm)|L (mm) (mm) min. (mm) | shear-/tractive force !Embauz_elchung _ELTRAL K35, Klppfens_ter, verdeckte Montage, _24V, Euronut
Eitral K35 K-18159-30-0-00 installation drawing ELTRAL K35, tilt window, concealed mounting, 24V, Euronut
Eltral K35 Synchro | K-18160-30-0-00 | 200 /300 559 520 544 500 / 700 350N / 350N Bef.-Garn. / mounting set K-18218-00-0-00 fiir Uberschlag / for overlap 7,5 - 9 mm
Eltral K35 K-18159-50-0-00 Mod. No. lel | released Scale|Modification Size
Eltral K35 Synchro | K-18160-50-0-00 400 / 500 650 611 635 950 / 1200 100N / 350N G26902 - 110 2 3
1:2
Eltral K K-18159-80-0-00 m ;
tral K35 o2 600 / 800 804 765 789 1500 /2000 | 50N / 350N ost |21.11.2012  |Ng Drawing No. Sheet
Eltral K35 Synchro | K-18160-80-0-00 1/1
Replacement for -- 0_45897-IE_0-0




